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@® sin90° = cos 90° = tan 90°

@ sin30° = cos 60° = tan 45°

® sin90° = cos0° = tan 90°

@ sin90° + cos 90° + tan 45° = 2

3 cos0° 4+ tan 0° = sin 90°






e
]
Hlo

el
Bl

ol

!

™

@ FAA Feoll W

= 9o TN Z2 A=l At

@ ZAo
SHORREH T2 Ao 3

e

ot e

d|
=

®



o5 133 Zo] 2749 ABCDE 7t ¢ /\
O ol WAt LA =852, /D=150"4 4 E

o, /BOC 9] 4712

® 90° @ 100° @ 140°

@ 110° 3 120°



7. thg 2YlA PA 9 Qolg Fhw?



21010] 4 3]0] A3 o] ol 22 AR 4| W] 8.5 ol
oiet. 5 3] Aol A% o] WolA 5 F7tx1 0] Bito] 4 F7A o
Buch 14 WA 5 2 Ale] 41 Fetolat.

g .
(=B =



I-.__O H JJ-()] -] Jl-q-() 25 3 Kel H o] 7}Fo
=1 .]_'_E-/\T _'_\I]_'..JJ_ 1
A o)
5. BR=
=
N B
E] o

Fofodat,

71|:L
Ry
(A)[3]4
5
6
7 SH
A

I

E}\
(1) 21 A
8
B
3
20




o] 73.5 AL o, y—2x O] FL&

= 47

~=
;é-l]"l—e

2AFSFo] WHE B4R
Fofoler,

A= (&) =4
50 ~ 607 | 2
60°7F ~ 70T [ 5
707 ~ 80 [ &
80T ~ 90 | 4
90°" ~ 100 | 1

A y




S
pild

o —

2

Bk
HCERNET
9




o] Z1X}7+8] ABCD o]l A] thzt B
Aoz Aol C7tLAA

AD ¢ wAS F a1 o uj,
Fsteet,

a1
D
E

o

)

tle w oo

T} Zro] At
= o

A

i

, BE
FD 9] Zo]

o
to il my

et

SR
=¥



0° <A <45° \/(sinA —cosA)’+ \/(cosA —sinA)? & 75
Sh?

@D sinA @ 2sinA
® -2sinA +2cosA @ —cosA

B 2cosA



14. ohe 293 2L AZ47HE ABC o thto] sinA xsin B o] 2
Fatelet.




15.

@ (1)12,(2)10V3
® (1)14,(2)8V3
® (1)14,(2)5V3

@ (1)12,(2)12V3
@ (1)14,(2)9V3



16. Hol7} 25m 91 Ul ek JB2G o] Hol& Fakofa,



17. o= 1™ A9 ABCD ] |
o] T-stol=t.

D51v2 @ 51v3 3 53v2 @ 53v3 O 536



18. OF Il AB +CD © gH& Fotol
.




T---99-----"Hb




20. ZH Fol7} 15 1711 LCD BYEE FYstArh B 3}
WO 7k, A2 7k 43 A o, mUE ] hRe} AR o] ZolE

Hstolat,
a = ?_]i]



